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1. W% 47l S % Teal k 991 F 9MHE 3k2 + 5k
2| Frefafiga 8 |4 F19-a1 wé 27

(@ S % 98 UH wHia Ao & ¥, Fmew
g W 14 R)

(b) S % 1= T wuiew Ivfi =R ¥, R
HE 3@ 6 B

¢ S % we uF Ui Aoft w0 ¥, fr
ud ¥ 10/7 )

(d) S% "8 uF Ui Al wR §, Frwe
T I 11/4 B

2. TF GP % YN 8 Y& F AMTHA THF WUH 4
wel % dee w1 9t T R AR re 1 wE
wgaE R, @ r % fr Gwifia arafas am A
e 87

(a) TH
(b) @
fe)
(d) o A e

3. IR gl x? —kx + k = O F TH qA g W
2J3 At B, @ k 1 9 Fr=fefaq # @

-7 87
(@) 3 (b) 6
(c) 9 (d 12

4. af3 x+8=4 I y+3=-4, A (x+y)

Tormes = 7
(@) O (b) 1
fc) 4 (d) S

AEBC-B-MTH/55A

5. MR TFEAPH 54, 7d R 13d wwGP A E, A
TH U YR | TEH 9/ A § A T
27

(@) -3
(b) -2
) 2

d 3

6. R p, 1, qAPHE 3 p, 2, qGP H &, A
Trefafaa wudi § | F9-T/F0-5 78 2/87

. p 4, qHPHE
I. (1/p), 1/4, (1/q) AP # %)

Ry g e w1 R wd I g
(@) Faa1

(b) Fad I

(c) 1313

(@ IMIARIEA N

7. R x = (1111),, y=(1001), Az =(110),,
M x3 - y® - 2% - 3xyz Frud T B7

(@ (1111001),
(b) (1001111),
(e (1
(d (0)



1. The sum of the first k terms of a series S 5.
is 3k? + 5k. Which one of the following
is correct?

(a) The terms of S form an arithmetic

progression with common
difference 14.

(b) The terms of S form an arithmetic
progression with common
difference 6.

(c) The terms of S form a geometric
progression with common ratio
10/7. 6.

(d) The terms of S form a geometric
progression with common ratio
11/4.

2. The sum of the first 8 terms of a GP is
five times the sum of its first 4 terms.
If r # 1is the common ratio, then what is
the number of possible real values of r?

(a) One

(b) Two

fc) Three

{d) More than three

3. If one root of the equation x2 — kx + k = 0
exceeds the other by 243, then which

If 5th, 7th and 13th terms of an AP are in
GP, then what is the ratio of its first
term to its common difference?

(@) -3
(b) -2
fcg 2
(d 3
If p, 1, g are in AP and p, 2, g are in GP,

then which of the following statements
is/are correct?

I. p, 4, g are in HP.
I. (1/p), 1/4, (1/g) are in AP.

Select the answer using the code given
below.

(a) 1 only
(b) 1I only
(c) Both 1 and Il

(d) Neither I nor II

one of the following is a value of k? 7. If x=(1111),, y=(1001), and z = (110),,
(a) 3 () 6 thcr;l w?hat is x°- y:3 -z% - 3xyz
equal to o =
(c) 9 (d) 12 < ' Sﬂ:' g
(@ (1111001), / _1,‘,;:\
5. 5-_4,- i ISR S 2
4, If.rc+£’|| 4 and y+ 3 =-4, then what is (b) (1001117, :,{4‘”5;
(x + y) equal to? *&o,j_o\t
L) : *
o () 1 @ M g —30 5 ©
© 4 @ s ey <8 B 2_ 49n -9
T oy e e R
5 % 4>
AEBC-B-MTH/55A R 3 A {'.j tS HM ero.
e :] g +S D 9 o i



8. af2 11. IR A2+ B24+Cc2 =0, A

&b e 1 cosC cosB
A=|d e f cosC 1 cosA
g h i cosB cosA 1
# A B, C D GHasdl a, b, ¢, d, gF w1 A 27
FHY: WEEE 8, @ bB+cC-dD - gG fous
T BT (a) -1 (b) O
(a) O fo 1 (@ 2
(b) 1
fe) A
12. a2 o T (unity) 1 FErEfa® o9d #, o
) ~a puicau
o. O x+1 w 2
kik+2) 2k+1 1 2 x+0? 1 |=0
A=|2k+1 k421 o Lo R
? i %1 T Y& (root) 1 87
%F wed # fyferfiaa s W faar fifsw
I AR, AR k> 0. D R
. A A 8, 92 k <O ) x=0 (d) x=0?
. AYAR AR k=0
T o 3 A Fre/ e W R/87 o~ (ﬁafmm%?
(@) FE s T V=)
b) T (@) -1 (b) 0
€ A © 1 @ 3
(d) |t i
10. af2 14. R x2 - x+1=0,
2 3+i -1 1)? 1’ 1)°
§=2 0 i-l=A%iB (’“IJ +[x_IJ +[x_§]
- =P 7
! Ter w27
W&l i =+/~1, 9 A+ B su 87
(@) 81 (b) 85
(@) -10 (b) -6
(c) O (d) 6 (c) 87 (d) 90

AEBC-B-MTH/55A 4



8. If

a c
A=|d £
g h i

and A, B, C, D, G are the cofactors of the
elements a, b, c, d, g respectively, then
what is bB+cC-dD - gG equal to?

fa) O

(b) 1

(c) A

(d) -A

9. Consider the following statements in
respect of the determinant

kik+2) 2k+1 1
A=|2k+1 k+2 1
3 3 1

I. A is positive if k > 0.
II. A is negative if k < 0.
II. A is zero if k=0.

How many of the statements given
above are correct?

(a) None
(b) One
fc) Two
{d) All three
=
2 3+i =1
3-i 0 i-1|=A+iB

-1 =-1-=i 1

where i = V-1, then what is A+ B equal

to?
(a) -10 (b) -6
fe) 0O (d) 6

AEBC-B-MTH/55A

11. 1f A2+ B2 +C2?2 =0, then what is the
value of the following?

1 cosC cosB
cosC 1 cos A
cosB cosA 1

(@ -1 () 0

() 1 (d) 2

12. If wis a non-real cube root of unity, then

what is a root of the following equation?

x+1 ® W
0 x+0? 1 =0
w2 1 X+
/{ql x=0 (b) x=1
€ x=o (d x=0?

. J§+i]3
13. What 13( -| equal to?
3 ~i : )
% W
(@ -1 (b) © ( =

!
/{c}/ 1 @ 3 ///:\

A )

14. If x? -x+1= 0, then what is

(-3 o) (=3

equal to?
(@) 81 (b) 85
(c) 87 (d) 90

[ P.T.O.



15.

16.

17.

18.

19.

20.

%5 CAPITAL % ¥l 31l &1 wam =% freat
7-380 v (FApl @1 addR) wmm o
a8, aIfF v v § vl 2w Ay
Fni?

fa) 360 (b) 300

(c) 288 (d) 240

IR zz0 wE uwE Hen 3 @

amp (z) + amp (z) fFa$ TTE 27
(a) O (b) m/2
fc) = (d) 2n

w9y, it 20 faed &, ) freeh ed
&

(@) 6 () 7
) 8 d 10

W& DELHI % 318 1 fas yan ¥ =1afey
B wwar 2, el =0 ik ZeE

feufa smf@Efda (unchanged) @7
(a) 6 (b) 9
© 12 @ 24

X+y+z="5% GIH [O0F Bl (positive
integer solutions) # "e& e 27

(a) 3 () S
fc) 6 (@ 9

(3% +5%)2 ¥ waw # widm v H wen
Forerft &7

(@) 2 (b) 3
fe) 4 (d) 6

AEBC-B-MTH/55A

21. AR (x+y)" F WWR & e i w1 G

256 8, @ Ffafas o 4 4 el weew
fowe 1ot smem?

(a) EL

(b) =

(c) dr=d

(@) H3

22. IR k<(W2+1)° <k +2, & k & g

2, @ kFAH = RY

23. af2

24, 7f2

@ 11 (b) 13
e 15 @ 17
1 2 R
[x 1 1{4 5 6(|1|=[45]
7 18 9]
@ frafafaa # @ F9-w1 x #9199 27
(@) -2 () -1
¢ 0 (d) 1
Yy € x
A=|z x y
v

el x, y, z P B, UF wifew e B, @
x? + y? + 22 w1 9H w7

fa) © (b) 1

{c) 4 d 14



15. How many 7-letter words (with or without
meaning) can be constructed using all
the letters of the word CAPITAL so that
all consonants come together in each

word?
/{a) 360 (b) 300
(e) 288 (d) 240

16. Ifz # 0 is a complex number, then what is
amp (z) + amp(z) equal to?

(a) O (b) m/2
(c) = (d) 2n
EaHow many sides are there in a polygon
which has 20 diagonals?
(a) 6 (b) 7
fc) 8 (d) 10

In how many ways can the letters of the

word DELHI be arranged keeping the
positions of vowels and consonants

unchanged?
fa) 6 (b) 9
(¢ 12 (d) 24

19. What is the number of positive integer
solutions of x + y+z =57

@3 @ s
(c) 6 (@ o
20. What is the number of rational terms in
the expansion of {3’1F + 5%]12?
fa) 2 (b) 3
fe) 4 (@ 6

AEBC-B-MTH/55A

fu

21. If the sum of binomial coefficients in the
expansion of (x+ y)" is 256, then the

greatest binomial coefficient occurs in
which one of the following terms?

(a) Third
(b) Fourth
(c) Fifth
(d) Ninth

22. If k<(W2+1)% <k+2, where k is a

natural number, then what is the value

of k?
@ 11 (b) 13
) 15 d 17

Lz:i.-)r

1 2 31
x 1 1|4 5 6| 1|=p45
7 8 9|x

then which one of the following is a

value of x?
(@ -2 (b) -1
fcg O @ 1

A=

= N e
N o X

z
X
Y

where x, y, z are integers, is an
orthogonal matrix, then what is the
value of x2 +y2 +2%7?

fa) O (b) 1

(c] 4 d) 14

J[’“*JJ [ d]“‘é D/

Hyz-;J - +K}7—+M7- 1‘>r'



25. T Foig dFR M % Hed ¥, fefafaa 28, AR 5n fim el § | r Sgel & 9w A

o formm fifsm TE, (n+r) TG F =951 i g@n F ava
I |M=|M7} @ n
. |Mj=|MT|
(b) 2n
I # | e /e wdl B/87
(@) 3 7 -
(b) TH (d) 4n
) A
(@) wfi 29. 6 fim Fgelt # A afve--afes 3 T ¥
57T ) HE = 2t
26. 3
cos® sin@ (a) 20
ﬂe}:{—sinﬁ cosB]
(b) 22
A {f(n)y? Foras wwer 27
(a) [_' 0} (b) [l 1] e
= 10
(© {0 1] @ [0 1]
30. 7fz
27. 7R [x y z}
A=y z x
122 3
A=[2 1 2} %
221 W x, y, z % 8, 0F wifaw o R, @
A2 — 4 Fres o B A? s s ¥?
by =Bl (@) A AR
(b) -I,
@ I (b) ToEHE AT
(d) 5l fc) A
el 1, T 3 1 THTE TR B (@ -A

AEBC-B-MTH/55A 8



non-singular matrix M :
Lo |M?%=| M

. |M=|M

m. |M|=|MT|

How many of the above are correct?
(a)
(b) One

(c) Two.)(
(d) Al :hrg/

None

26. If

cosB sinf
fla}:{—sinﬁ cosﬂ]

then what is {f(n)}? equal to?

-1 0 11
(@) [0—1] ®) [1 J
10 10
ooy 2l

122

A=|2 12

2 2 1

then what is A2 —4A equal to?
(@)
(b)
fc)
(d)

-5,

where I, is the identity matrix of order 3.

AEBC-B-MTH/55A

25 Consider the following in respect of a

- A

-

28. If the number of selections of r as well as

(n+r) things from 5n different things are
equal, then what is the value of r?

fa) n
(b) 2n
fc) 3n

(d) 4n

29. What is the number of selections of at

30.

most 3 things from 6 different things?
fa) 20
(b) 22
(c) 41

(d) 42

If

L
% N
© X N

where x, y, z are integers, is an
orthogonal matrix, then what is A2
equal to?

(a) Null matrix
(b) Identity matrix
fc) A

(@ -A

[PT.O.
s a-H

——

n? AL-aA+T S-HA



IR T # (03) wer F fom Frforfas w few
Hif ;

"H T p = sin 35°, g = sin25° 3 r = sin(-95°)
31. (p+q+r) Twad sua 7
(@) -1
() 0
fc) 2sinf°
(d) 2cos5°

32. (pq+qr+ rp) Fras swEL &7
(@ -3/4
(b) O
fc) 1/4
(d) 3/4

33. (p2 +q? +r?) frud auar 37
@ 1/2
(b) 1
€ 3/2
(d) 2

M 9 B (02) v % T fefafa o fEr
Hif

HA Y p = | sina - sinfo - 90°) |
34. p F 3[FAH HH F1 87

@ 0

() 1/2

(¢ 1/42

(d 1

AEBC-B-MTH/55A 10

35. p F1 HAfiehan A =1 7
fa) 1
(b) 2
() 3
@ 2

M F W (03) vl % forg Frefefias wfEm

Hifvre

o fiys ABC i y9 AB=3cm, BC=5cm 3t

CA=T7cm#%|

36. Frefafan et v fmm $ifso .
L %€ o o stfie e 21

1. %@ Bye & g =1 demea ot = R

I Hul § A PH-w1 /A T R/
(@) Fa€1

(b) Fa€ 11

(c) 13 113M
(d F@ismad@n

37. «B forad s R?
fa) 60°
() 105°
e 120°
d 150°

38. e =1 dwe = 7
fa) 15V3 /4T em
(b) 15V3 /21 cm
¢ 15J3 @i cm
(d) 30y3 91 cm



Consider the following for the three (03) items
that follow :

Let p =sin35° g =sin25° and r = sin(-95°).

31. What is (p+g+r) equal to?

(@) -1
() 0
(c) 2sin5°
(d) 2cos5®

32. What is (pg +gr + rp) equal to?
(@ -3/4
(b) 0
c) 1/4
(@ 3/4

33. What is (p? + g2 +r?) equal to?
(@) 1/2
(b) 1
fc) 3/2

(d 2

Consider the following for the two (02) items

that follow :
Let p =|sina - sinfo — 90°)].

34. What is the minimum value of p?
() O
(b) 1/2
(c) 1/42
(d) 1

AEBC-B-MTH/55A
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35. What is the maximum value of p?
fa) 1
) 2
(c) V3
(d) 2

Consider the following for the three (03) items
that follow :

The sides of a triangle ABC are AB=3cm,
BC=5cm and CA=7cm.

36. Consider the following statements :
I. The triangle is
triangle.
II. The sum of acute angles of the
triangle is also acute.

obtuse-angled

Which of the statements given above
is/are correct?

(a) 1 only

(b) 11 only

fc) Both I and II
(d) Neither I nor II

37. What is ZB equal to?
(@) 60°
(b) 105°
(c) 120°
(d) 150°

38. What is the area of the triangle?
(a) 1543 /4 square cm
(b) 15J3 /2 square cm
(c) 1543 square cm
(d) 3043 square cm

[ FT.O.



AM @ &1 (02) vl % fou frefafes w fEw HM e @ (03) Wi & o frefefiga @ faem
=i hifem .

ok 7 & I (M) F AR T T S @8 e HH Y p = tan20 - tana 3R g = cota — cot2a

¥ R (N) @ R e ¥, W fRa A fegadt A, Q ?
3 R @ o #) P, Q 3R RA M F mgA-H 41. (p/q) Fs s &7

F: 30°, 45° @41 60° B| WM i pQ=a 3R (a) -tano - tan2o
OR=btI (b) —cota -cot2a
39, PN T5Es st 87 (¢) tana-tan2o
(d) -cota-cotﬁu
(@ [3-2\{5]“
42, {p+q}mmﬁ'{%?
(b) [3+2J§Ja (a) secdo
(b) cosecdo
3-43 c) 2secda
(e 4 i (d) 2cosecdu
3+43 43. tan? o fFas R 27
@ (29
S (@ (pa)/(p+aq)
(b) (p+2q)/p
40. MN fred sua 37 (c) p/lp+2q)
(d) p/@p+q)
(@) [3+2J§]b
AH 9 | (02) v F fow Frafafes w fEw
wHifs
b) 3-8 b

HM T 2sino + coso = 2, 98 0 < < 90°
44. tano T st 87

5]
(a‘ﬁjb @ 1/2
&

(b) 1
() 3/4
@ 2

AEBC-B-MTH/55A 12



Consider the following for the two (02) items
that follow :

The top (M) of a tower is observed from three
points P, Q and R lying in a horizontal straight
line which passes directly along the foot (N) of
the tower. The angles of elevations of M from P,
Q and R are 30°, 45° and 60° respectively. Let
PQ=a and QR=b.

39. What is PN equal to?

(a) (3" ‘ﬁ]a

.

40. What is MN equal to?

(@ [3+2J§Jb

AEBC-B-MTH/55A

Consider the following for the three (03) items
that follow :

Let p =tan20 - tana and g = cota - cot2a.

41. What is (p/q) equal to?
(a) —tano-tan2o
(b) -cotu -cot2o
(c) tana-tan2o

(d) coto -cot2a

42. What is (p +g) equal to?
(a) secdo
(b) cosec4a
(c) 2secda

(d) 2cosec4a

43. What is tan? o equal to?

(@) (pq)/(p+aq)
(b) (p+2q)/p
e} pllp+2q)
(d p/Rp+q)

Consider the following for the two (02) items
that follow :

Let 2sina +coso. = 2, where 0 <a < 90°,

(44, What is tana equal to?
(@ 1/2
(b) 1
) 3/4
(d 2

13 [P.T.O.



45. 2sin20 +cos2o THEF TR 7
(@ 11/10
(b) 11/5
() 12/5

(d 13/5

HA 9 | (02) vt ¥ forg Frefafas w fEw
EAIE

wF fys ABC#, 2 ot B 3R ca, 2: 1% Ium
# § 3R 7% fredta dma Ao 30 1% sguma § §)

46. Frgs % Foft # § v B0 R
(@ 15°
() 30°
() 45°

(d) 75°

47. T=faflas o w fomn i
1 e i ¥

1. Py 1 ok g, g8 o 3 T R
n. fyEFama, ciRBaP# §

I FoEl A § T /FA-3 T R/RT
(a) Fa 1

(b) Fa& 11 3R 1M

(c) e 13w

(d 1,11 3R 1m

AEBC-B-MTH/55A
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48. 50m ¥=8 H w fawht F owm (P) ¥

100 m §@&Ed M R @31 UF =Afe @ &
gt % = frg (Q +1 sww-Fm 450 &)
Fwrft w1 35w fag R W 21 5% s P
R 3R Q U e M@l # § 9 9% Wa W@
PM % ad B | 1 RMQ Torass s 27

o ()

(b) tan’!

winN

B
o il
)

(d) tan~!

| w

49. 7R x? -4x+1=0 F T A k B, @

tan'lk+tan“1%ﬁiﬂaii’ﬂi{%?

(a) -n/2
(b) 0

(b) 1/2
(c) 1/3
(d) 1/4



45. What is 2sin20 +cos20 equal to?

(@ 11/10
() 11/5
(c) 12/5
(d) 13/5

Consider the following for the two (02) items
that follow :

In a triangle ABC, two sides BC and CA are in
the ratio 2: 1 and their opposite corresponding
angles are in the ratio 3: 1.

46. One of the angles of the triangle is

(a) 15°

) 30 '
c) 45° 9(\7
@ 75 0 P

48, A man at M, standing 100 m away from
the base (P) of a chimney of height 50 m,
observes the angle of elevation of the
highest point (Q) of the smoke to be 45°.
The highest point of the chimney is at R.
Further P, R and Q are in a straight line
and the straight line is perpendicular to
PM. What is the angle RMQ equal to?

(a) tan”! %J

(b) tan”!

(d) tan”!

[

(
o w2

f

49, If k is a root of x? —4x + 1= 0, then what
is tan"' k +tan‘1% equal to?

ol \
Q. af t fi . 2. Gnt
3¢ 7 ; s =12 2 \
47. Consider the following statements : 7 9 ?
5 0 D
1. The triangle is right-angled. o @ -
fl .
1. One of the sides of the triangle is f (c) m/4 -
3 times the other. 3 @ =/2 3 2
IlI. The angles A, C and B of the /[
triangle are in AP. . 1
: : 50. If tan 'k + tan™! = =, then what is the
Which of the statements given above 24
is/are correct? value of k?
(a) 1 only (@ 1 \ ‘;\ %
O
(b) 11 and 11l only (b) 1/2 W \
=N L <
() 1and Il only A9 1/3 lar /‘2’
<~
(@ 1,11 and II (@ 1/4 ~X
\ 3
-k
AEBC-B-MTH/55A 15 § \ 5 Al 5 Sl 1
K ™9 \
g% % P ;)



51. e sy ¥ siwfa Y@ m2x+ny-1=0 54, W i WamEe AB ¥ simfag A3 1) 3R

WM n?x-my+2=0 THE-FW R weaq B(l, 1) &1 wF i tarEe AB #1 wefig
i PRI 9R i @, Yarde AB ¥ wa v
W W PR V2 EE A g
@ mn-1=0 R O % wwifya e wn §7
(b) mn+1=0 (@ 2 1)
L k. ) (3 1)
(¢ 22
({d m-n=0
(@ (1 3

52. a2 p M g, 0 3 1 ¥ f= @ wEn A
(0 0) T FHaR Byw = m ¥, @ (p+g 4

forureh e 27 féws (-2 6) %, @ BC F1 ik =0 87
@ 2 (@) 3x+4y-18=0
a
() 4x+3y-1=0
(b) V2-1 :
fc) 4x-3y+26=0
) 2-3
(d) 3x-4y+30=0
[d 4-23

56. 30 g9 F1 wHiH ¥ 7, FEa =™ 10 cm
R 3% A F 4 A F glE x+y=0

53. w fiyw % wd A(L 1, B 0 3k c@ 0 W ox—y=0%

Bl By ¥ #rfm WSS  (angular
bisectors) P W fierd 81 P fdwn= == 87

fa) x2+y2=1

(@ (1 ~2-)
) x2+y?=25
(b) (1 Y3-1)
' 2442 =100
© 1/ 9 s
(d (1/2 v2-1) [d x?+y?-2x-2y-23=0

AEBC-B-MTH/55A 16



51. Under what condition will the lines
2x+ny-1=0and nzx—my+2= 0 be
perpendicular?

m

(a)
(b)
fc)
(@)
52. If p and g are real numbers between 0
and 1 such that the points (p, 1), (1 q)

and (0, 0) form an equilateral triangle,
then what is (p +4g) equal to?

(@ 2 + T\“x X
II\- \\‘ z
() 2-1 @"
) 2-+3 3 Q\"
L
'8
(d) 4-243

B53. The vertices of a triangle are A(l 1),
B0, 0) and C(2 0. The angular
bisectors of the triangle meet at P. What
are the coordinates of P?

A (1))

@ (1 V2-1)
() (1, Y3-1)

fe) (1L 1/2

0,9
@ a2 3oy O G

AEBC-B-MTH/55A

54. Let A(3, -1)and B(], 1) be the end points
of line segment AB. Let P be the middle
point of the line segment AB. Let Q be
the point situated at a distance +/2 units
from P on the perpendicular bisector
line of AB. What are the possible
coordinates of Q7

(@ @ 0,2
m @1 )
", 7
© @2 e
Q‘N; f,f)'é)
(@ (3 %

58. ABC is an equilateral triangle and AD is
the altitude on BC. If the coordinates of

A are (1, 2) and that of D are (-2, 6),
then what is the equation of BC?

o
K
“/q) 3x+4y-18=0

ﬂ"
Tf (b) 4x+3y-1=
() 4x-3y+26=0
(d) 3x-4y+30=0
':_56. What is the equation of the circle whose

diameter is 10 cm and the equations of
two of its diameters are x+y=0 and

x-y=0?

(@ x?+y®=

_b) x%+y? =25
(28 @ x2+y?-100

.I' 9 ] (d) x2+y2—2x—2y—23=0
7

[P.T.O.



57. 78 x2 + y? +2x+2y+ 1= 0% siwfa g a1
siffa & e geehl sod Fdwie et % wwie
# | Frfafed & @ F9-w i %1 o i 27

(@ (-2 2)
(b -2 -2

(d) iqﬁ?ﬁﬁﬂﬂfqif

58. WaeH (parai:ola) y? =4x W U v
x-318 ) g o F 9w 45° F w W

aFd B W iR waem w1 ey
F-a1 77

@ (L)
(b) @ 2v2)

@ (3 %)

@ (1 2

59. sfutae™ (hyperbola) 25x2 - 75y =225
1 3 Tt & e 6 gt frah 27

(@ 2V3 718
(b) 443 T8
) J6@TH
(d) 2J6 @

60. a? Uk <dgw (ellipse) W HE fag
(3sino, Scosa) B, W dHgw fit I

w87

(@ 4/3 (b) 4/5

) 3/4 @ 1/2
AEBC-B-MTH/55A

18

61. af 3 s # vk Y@ i @15 i g

et ¥ w9 o, B 3N y T = R, @
cos (ot + P)cos (o — p) TFaF arET 27

(a) cos?y
(b) —cos?y
(c) sin?y

(d) -sin?y

62. A(12 -1), B(2 5 -2) 3t C(4,4, -3) @

A % f ¥l &1 sraa w1 Qe @0 27
(@) 8 T

(b) 9 & T

(c) /66 = FHE

(d) &8 = g

63. ABC W% = ®, s B W wwnfg 2| 3l

A(k, 1, -1), B(2k, 0, 2) ¥R C(2+2k, k, 1)
P % ¥id &, & k1 @ 27

(@) -3 (b) -1
(0 1 @ 3

64. IR TF W@

S&l p=2q=3r, y-u@ f vIeEE B F
1Y 6 I T B, A cos26 e =R &7

(@) -31/49
(b) -37/49
(c) 31/49
(d) 37/49



57. A square is inscribed in a circle
x2+ 48 +2x+2y+1=0 and its sides
are parallel to coordinate axes. Which

one of the following is a vertex of the

square?
(@ (-2 2)
() -2 -2
1 1
o (1)

(d) None of the above

58. A tangent to the parabola _1;2 =4x is
inclined at an angle 45° with the positive
direction of x-axis. What is the point
of contact of the tangent and the

peTaba? (- ‘2{’\) (c) /66 square \fits % J( _‘l
@ (1 . 57 o) ) [ aiiwyusit ve ¥R
b @ 242) 2 (-2 (JE
1 1 )L ’.) 63. ABC is a triangle right-angled atEIf
(c) [5, E) A -2 Al(k, 1 -1), B(2k, 0, 2) and C(2+2k, k, 1)
( are the vertices of the triangle, then
@ (12 what is the value of k? B U(,"l,“'u)
(a) -3 (b) -1

59. What is the distance beztwccn t;'le two foci © 1 @ 3
of the hyperbola 25x“ - 75y“ =225? =
(a) 243 units 64, If a line (‘i:,m
(b) 43 units xRl oyl (Qk )

P4 ' g«r/sltf‘f
(c) /6 units >
where p=2g=3r, makes an angle 6
(d) 26 units with the positive direction of yaxis,
then what is cos28 equal to?

60. If any point on an ellipse is 2
(3sina, 5cosw), then what is the W -aty A @k' k) f(O -'f)z (2+'J
eccentricity of the ellipse? (b) -37/49 :

(@) 4/3 (b) 4/5 fc) 31/49 k*+1+9
4 1/2 d) 37 /49
(c) 3/ @ 1/ (d 37/ Gca_“c,)(
AEBC-B-MTH/55A

61. If a line in 3 dimensions makes angles o,

B and y with the positive directions of
the coordinate axes, then what is
cos(a + B)cos (o — ) equal to?

X
(a) cosz'y j‘ ] -\
(b) -cosz'y \ 3 =
(¢) sin2y L > «1,)
v 1))
(d) —-sin“y L E
\ e
e v

-

62. (L2 -1), B(2 5 -2) and C(4, 4, ~3) are
three vertices of a rectangle. What is the, .
area of the rectangle? A

(k Bina }(/{U (2

(a) 8 square units e

(b) 9 square units

“%)# (k"ﬂ)(r -2)
2 ket (k=1) b o



65. 39 WA B WHHO w1 R, A fg (L1, 1)@ 68. i fagall A, B ¥k C ¥ fufy aftw #9w: 4,

e e & s 3H Yan WA R, fes b ¥R ¢ v wEm 5 3d-4b+3 =0 B
fes-sigama (3,2 1) ¥ AB: BC frud st @7
fa) x+2y+3z=6 (@ 3:1
(b) 3x+2y+z=6 ®) 1:3
fc) x+y+z=3
fc) 3:4
(d) 3x+2y+z=0
(d 1:4

66. % @ fFEws 9 f uaens et F @
Oy ﬁ. 3#( Y T’ﬁu‘[ ?Fﬂ?ﬂ %l qﬁ

d=(sin®a)i +(sin?pB) j+(sin? y)k @ ¥y Eﬁj‘;?:aﬁ;,z;mcaiﬁfﬂﬁﬂﬁr 34’
Y s ¢ # el = 8)d +(sin? §) b
B=i+jek ®, a5 s w7 oy e
R (@xb)+(bx2)+(Cxa) fraF au= 27
(@) -2
(@) ©
) -1
(© 1 (b) 2¢
(d@ 2 (c) 3¢
67. TR d = (@xb)xe ¥ ol & Prfufem () W e
Tl T faem i
1 * d waeia & d 3i b % w | 70. W9 Wit @, b, (@xb) WEE wRW £
. daagem| (d-b) e s 27
I FYE H B BA-H/FA-D Gh B/E (@ 0
(a) e 1 i 1 48
(b) FaA 11
e 1
(c) 13 I1EH
(@ AMI1ARAA I (d 3

AEBC-B-MTH/55A 20



65. What is the equation of the plane 68. The position vectors of three points A, B
passing through the point (1, 1, 1) and
perpendicular to the line whose
direction ratios are (3,2 1)?

and C are @, 3 and ¢ respectively such
that 3@ -4b+¢=0. What is AB: BC

equal to?
(a) x+2y+3z=6 I
W 3 2\ @ 3:1 7~
(b) 3x+2y+z=6
(b) 1:3 XY
fc) x+y+z=3
.fe) 3:4
(d 3x+2y+z=0 o 90\
d 1:4 2
66. A line makes angles o, P and ¥
with the positive directions A !
of the  coordinate Py If 69. The position vc::to_:;s of t]:_l.rcc points A,
@ =(sin? cc}f-!—{si.nz ﬂ)j+[8in2 y)k and B and C are a, b and ¢ rc_?pectivcly,
- & = - == 2 - . 2 .
b =1+ j+k, then what isd - b equal to? thr_:: * _'(cos 8+ (xinr 80 What ia
§ (@xDb)+(b x€)+(€xd) equal to?
»
(@) -2 \ X TS n 2 =
2> - 2 o C = )
5% (@ O we \D?‘
(b) -1 7 «Y .9 \o
fc) 1 WE
(d 2
(c) 3¢
67. Consider the following statements in
respect of a vector d=(dxb)x2: (d) Unit vector
=i : - o
I. d is coplanar with a and b.
II. d is perpendicular to 2. (70, Let @, 3, {3 xf;} be unit vectors. What is
Which of the statements given above (@-b) equal to?
is/are correct?
(@ O
(a) I only
(b) 1/2
(b) 1 only
() Bothlandll_— (c) (,_L
(d) Neither 1 nor 11 (d 3

AEBC-B-MTH/55A 21 [P.T.O.



HH A A (02) wEi ¥ fag frefifes w fEr
Hife

HA FRT x = sech - cosd 3 y = sec? 6 -cos? 6

71. (gf forwreh e 87

2 2 _
(@) 4{y:re +4) (b) 4{% 4)
(x* +4) (x< -4)
2 2.
© 16(1: +4) (d 16[_;; 4)
(= +4) (x* -4)

2 2
72. {x +4]%{[x2 +4}¥—16y] e

¥ +4
e 7
(a) 16x (b) 16y
(c) -16x (d) -16y

AW A AN (02) wwE F R Fefufan w few
#ifsr ;

HH g ABC wF fiw &, St B W wHaig § sl
AB+AC=3 |

73. AR Aw = daee afeam B, @ A Peus

R 87
(a n/6 (b) n/4
) n/3 (d) S5n/12

74. TS F1 sifewan daee = 27
(@ 3 /2% g
(b) 3 & g
() & /29 g
(d) 6@ gré

AEBC-B-MTH/85A

AR A B (02) v ¥ o frafafed w few
Hifs

" T (x+y)Pte = xP A, TRl p, q GHEE

it &
75. y ¥ x F gUE IGFAH
(a) Fa@ p R sl e @
(b) A q W it e 2
(c) p 3R g3t T Fft s @
(d) p ¥ g3 A =aE R

76. uﬁp+q=1o,?h%ﬁm%w%?

(@) <
X

(b) xy
(c) xiﬂyltl

@ ( %Jm

A A A (02) v ¥ fory Fefafes w fEr
whifere

TH Al FE x b U aw y= fx) ®@
(x flx) R wefen A @@ 4 ¥ o am e
(origin) ¥ B o R

77. % F EEY 1 £7
fa) (1, 4)% TR A v T T
(b) (-1 4) 8 = ATell T aee v

() TF waerE foow ofid qafag w ein
i (2 )R 2

(d) & v fram ol gefeg @ ain
1% (1, 0) T R



Consider the following for the two (02) items
that follow :

Let x = sech -cosB and y=sec? 8 -cos? 6.

2
71. What is (g-_g] equal to?

4y +4) 4(y> -4)
(x2 +4) (x2%-4)
16(y> +4 16(y% -4
(©) lg +4) [g )
(x“ +4) (x< —4)

2 2
72. What is {" +4Jiy-[(x2 +4]%x—2—y-16y]

y2 +4 )dx
equal to?
(a) 16x (b) 16y
(c) -16x (d) -16y

Consider the following for the two (02) items
that follow :

Let ABC be a triangle right-angled at B and
AB+ AC = 3 units.

73. What is ZA equal to if the area of the
triangle is maximum?

(@) n/6 (b) m/4
() n/3 (d) 5n /12
74. What is the maximum area of the
triangle?
(a) /3 /2 square unit
(b) /3 square units
(c) 6 /2 square units
(d) 6 square units

AEBC-B-MTH/55A

Consider the following for the two (02) items
that follow :

Let (x + y)P*9 = xPy, where p, q are positive
integers.

75. The derivative of y with respect to x
(a) depends on p only
(b) depends on g only
{¢) depends on both p and g
(d) is independent of both p and g

76. If p+q=10, then what is %x‘g equal to?
(@ 2
X
) xy
{C} xlo ylo
10
@ (4

X

Consider the following for the two (02) items
that follow :

The slope of the tangent to the curve y = f(x) at
(x, f(x)) is 4 for every real number x and the
curve passes through the origin.

{ 'E\. What is the nature of the curve?

(a) A straight line passing through
(1, 4)

(b) A straight line passing through
(-1 4)

(c) A parabola with vertex at origin
and focus at (2 0)

(d) A parabola with vertex at origin
and focus at (1 0)

[ P.T.O.



78. 9%, x4 AN W@ x =4 T dfEg 8 F

&ee T 7

(a) 8 & g
(b) 16 T THIE
(c) 32 =i g
(d) 64 =1 5%

M 9 A (02) v F foy Fefafes w e

it

3 2
mm}r{x’:{i2a <]

, x2321

79. limo f'(x) TorEe =R 27

@ 2
(b) 1
(c) O
(d) dm® e 78 &

80. fFmfafla wuFt w f=m fifvw .
I x=-19 %eH Had 2|
I x=1W %A saFeH 2

IF Fol § § FA-E/FA-E T 2R
fa) *ad 1

(b) A 11

(c) 13113

(d) FdMIdMmadn

AEBC-B-MTH/55A

24

M A A (02) FwE ¥ fore PR w fraw

Hife :

"M AT e y = (1-cosx)”!, Tl x # 2nn 3 n
ek uicEdl

81. e o1 TUE F41 £7

(@) [0 =)
(b) [0S =)
fe) [1 =)

(d) (==, 05]

82. [ydx fores T &7

(@) -tan(x/2)+c
(b) -cot(x/2)+c
fe) tan(x/2)+c
(d) cot(x/2)+c

TEl ¢ THTHeH-37= B

HM I B (02) v ¥ o Aefafas w e

Hifm

A WY BEM f(x) = sin|x], W& [] qETH qUiE

e ® 3l g(x) =| x|

83. lim (f(x) g(x)} e e 7

(@) -1
() 0
c) 1
(d) d e e Td 2



78, What is the area bounded by the curve, Consider the following for the two (02) items

the x-axis and the line x =47? that follow :

— fa) 8 square units - 4 ‘)\i> Let the function y= {l—cosx)“’, where x # 2nn
”/_ T P and n is an integer.
{b) 16 square units - %@
(¢) 32 square units % 81. What is the range of the function?
/
(d) 64 square units é (@) [0, =)
: . : (b) [0S, =)
Consider the following for the two (02) items
that follow : {C} [L m}
3 2
ol |

Let flx)={ ", (d (- 05]

82. What is [ydx equal to?
79. What is lirno f’(x) equal to?
xX—

(a) —tan(x/2)+c

(a) 2

b 1 (b) -cot(x/2)+c
(c) O (c) tan(x/2)+c
(d) Limit does not exist (d) cot{x/2)+c

where ¢ is the constant of integration.
80. Consider the following statements :

I. The function is continuous at

Freral Consider the following for the two (02) items

that follow :
II. The function is differentiable at

x=1]) Let the function f(x)=sin[x], where [-] is
the greatest integer function and g(x) =|x|
Which of the statements given above

is/are correct? ol
83. What is 11!1'10 {f(x) glx)} equal to?
x—r

(a) 1 only (@) -1

(b) 11 only (b) 0/

{c) Both I and II fc) 1

(d) Neither I nor II (d) Limit does not exist

AEBC-B-MTH/55A 25 [ PEG.



84. lim ﬂ’i: oreren =T 7

x—0g(x
(a) -sinl
(b) sinl
fc) O
(d) o w fee ad &

TR TR A (02) T ¥ oy Freffan w RER
B -

wIH I T £ (x) = |x - 3].
85. TeH f(x) %I Wid #4187
(@) (0, =)
(b) (3 =)
(©) (s =)
(d) (oo, =)~ {3}
86. TF f(x) N y=3 T viEwg &3 F A
w87
(a) 37 T
(b) 45 T THE
(c) 7-5 @ gHH
(@) 9= whrg
IR A R (02) v F o frafafea w fEw
ﬂﬁﬂl:
7R R £ = ((1,1), (2 4), (3, 7), (4, 10)).
87. Afd f(x) = px+q, @ (p+q) F °F 77
fa) -1
(b) 0
¢ 1
[d 5

AEBC-B-MTH/55A 26

88. fimfafas Hudl W faw fifsw

L f O %er B

n. AR f = wewE wqUiE # =y R,
@ f ATBEE Fer B

IR FoAl A ¥ PR /A2 B/
(@) a1

(b) Faa 11

(c) 13113

(d Fa@IsRAA N

AA A q(02) v F fag Frafafes w fEw

AH AT e £ (x) = x2 - 1.
89. lim (f o f (x) e e 7

(@ -1
(b) 0
(€ 1
(d 2

90. FTH f(x) 3N x-AW TN UG & F AAHA

- 87

(@ 1/37% 5T
(b) 2 /3% §HE
(c) 4 /3% g
(d) 2 5



84, What is ii-?o% equal to?
fa) -sinl
(b) sinl
fc) 0

(d) Limit does not exist

Consider the following for the two (02) items
that follow :

Let the curve f(x)=|x-3|.

85. What is the domain of the function f(x)?
(@) (0 ) tnd o
() (3 =) \
(© (o= =)
(d) (—= =)~{3}

88. Consider the following statements :

I.  f is one-one function.

II. f is onto function if the codomain
is the set of natural numbers.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 11 only
() Both I and Il

(d) Neither I nor II

Consider the following for the two (02) items
that follow :

Let the function f(x)=x2 -1.

86. What is the area bounded by the curve

fix) and y=3?

(c) 7'5 square units oy ) 6
(d) 9 square urys '| "

(a) 3 square units
(b) 45 square units

&

J
Consider the following for the two (02) items
that follow :
Let f={11), (24), (3 7), (4 10)}.
87. If f(x)= px+gq, then what is the value

of (p+q)?

(a) -1

(b) O

fe) 1

(d 5
AEBC-B-MTH/55A 27

89. What is lirrz1 {f ° f(x)} equal to?
xX—¥

(a) -1

B0

© 1

@ 2

90. What is the area bounded by the function

fx) and the x-axis?
(a) 1/3 square unit
(b) 2 /3 square unit
(c) 4 /3 square units

(d) 2 square units

[P.T.O.



IR 4 A (02) v F foy frefafias w e
Hifsr :

3
m?ﬂﬁﬁy:ain‘l[x—%].

91. y o suam 27
(@) sin”'x (b) sin'l(gj

(¢ 3sin'x (4 3sin-1[§]

92, %’ﬁﬁaﬁsm%?

1 1

@ =— ®

9-x 2

3 (d) 9
9 - x? 9-x?2

3-x

(c)

AR A (02) weE * forg Prafafes w fEw
#ifem

o oS wem fx) = x2 + 0.

. Jflx-3 5
93. iaino——_f[xj+7_4 Torads = 27

@) 2/3 (b) 1
e 4/3 @ 2

94. F=fafaa sl w fa=m fifw
L flx) "% ad9H %o B
1L fix) 1 A Afywa 77 x = 0w B
I FAI A A FPH-A1 D ad R/E
(@) Fa@ 1
(b) FEA 11
(c) 1311 aE
(d) FdIsaI@ 0

AEBC-B-MTH/55A

#R @ RN (02) A F foy Prafafas w fEw
s

x M y F off wow awafas 99 F T wem

x)_[x)pq v f@) = 3.
f{xl,f[y] 7@ e = & 3R f2) =3

95. f(16) foras s 7
(@ 18
(b) 27
(c) 54

(d) 81

96. f(1) f(4) Toras = 27
(@) 4

(b) 8
) 9

(d) 18

A @ A (02) Wt F fov Prafafes w few
#ifsr :

x @Ry F ooft awafes o F R o v fm
TR B ) = f(x+y) 3 £(5 =10

97. f(0) foras =uer &7

(a) 0
) 1
(c) 5

[@d 10



Consider the following for the two (02) items
that follow :

3
Let y=sin~! s i
27

91. What is y equal to?

(a) sin”! x {b) sin*[%]

) 3sin!x (d) 33in'1[§]

92. What is L equal to?
dx

1 1
(a) (b)
9-x2 3-x2
3 9
e d
B L

Consider the following for the two (02) items
that follow :

Let the function f(x)=x?2 +9.

jo v flx) -3
93. What is il'_.l':ln AW“‘* equal to?
(@ 2/3 (b) 1
() 4/3 (d 2

94, Consider the following statements :
I. flx) is an increasing function.

II. f(x) has local maximum at x = 0.

Which of the statements given above
is/are correct?

{a) 1 only

(b) 1I only

{c) Both I and II
(d) Neither I nor II

AEBC-B-MTH/55A

Consider the following for the two (02) items
that follow :

The function f(x) satisfies f [EJ - Jx) for all
y) fy

positive real values of x and y, and f(2)=3.

95. What is f(16) equal to?
(@) 18
(b) 27
(c) 54

(d) 81

96. What is f(1) f(4) equal to?
(@ 4
(b) 8
fc) 9

(@ 18

Consider the following for the two (02) items
that follow :

A function f is such that f(xy) = f(x + y) for all
real values of x and y, and f(5) = 10.

97. What is f(0) equal to?

ﬂ_o

®) 1
fc) S5

@d 10

[P.T.O.



98. [(20)+ f(-20) fFa® swar ¥7

(@) 0O
(b) 10
(c) 20

(d) 40

AR 7@ R (02) W ¥ R AR w few
A ;

A AT f(x) = [x2), S [ e gl e R
99, jgﬂxydxm%sm%?

fa) V3-+2

(b) 2(/3-42)

(¢ 3-+2

@ 1
100. Lz,if[x]dxmw%?

fa) 6-+3-242

(b) 6-3-42

fc) 6-3+2/2

(d 6+J3-242

AEBC-B-MTH/55A

A 913 9 (04) vl % fon frefafas w fimm
Hifs .

TF F4 % D F91 (height) F AERA §eH
:ﬁ%ﬂmmn%

F97¢ (cm #) BTl # g
160-162 12
162-164 15
164-166 24
166-168 13

101, 1@ BE N F@ wen A 2, h S
165 cm A FH A7 3GF =0 27

fa) 15
(b) 39
fc) 51

(d) 3w F A FE 7

102. F&1 F WfEF (median) S =0 &7
(@ 16241 cm
(b) 16341 cm
(¢) 16441 cm

(d) 16541 cm

103. & ¥ gad Ao IR gRh S el S=r R
(a) 1635 cm
(b) 1639 cm
{c) 1645 cm

(d) 1649 cm



98. What is f(20) + f(-20) equal to?

(@ 0
(b) 10
(c)* 20

(d) 40

Consider the following for the two (02) items
that follow :

Let f(x)
function.

= [x?], where [-] is the greatest integer

99, What is J:g flx)dx equal to?
iVB

(a) J3-42
(b) 2(3-2)
() 3-42

(@) }

100. What is ﬁa f(x)dx equal to?

-

Consider the following for the four (04) items
that follow :

The frequency distribution of height of
students of a class is given below :
Height (in cm) | Number of Students
160-162 12
162-164 15
164-166- 24
166-168 13
101. What is the total number of students
whose height is less than or equal to
165 cm?
fo
(a) 15 *'
b) 39 "
o) '3
() 51

(d) None of the above

4

102. What is the median height of the class?
fa) 162:41 cm

(b) 163-41 cm

e)

(d) 16541 cm

16441 cm

~103. The height which occurs most frequently

(@) 6-J3-2V2 3 in the class is
B L (a) 163:5 cm
() 6-J3-42 2!1
/, (b) 1639 cm
fc) 6-3+242
c 1645 cm
(d) 6+J3-242 fd’ Iv8 em

AEBC-B-MTH/55A
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104. T M aRrERE de7 F Al I e
e &

(a) <8 A@ (bar chart)

(b) wftwa de M@ (percentage bar

chart)
(c) ¥EaREA (histogram)
(d) F9 3@ (pie chart)

HA 91§ (02) vww F o Prefafas w fEw
$fSm :

50 FoEREda F4i (tropical tubers) I &a® X
(cm &) 3t 997 v (gm &) F dma daoi F:1 dorea
AR =F T oW AHE W R B omn R
IX =200, Y =250, X2 =900 3 £¥ 2 = 1400

105. ol § § F9-a1 9é 27
(@) SR (X) > TR (V)
(b) FEHTT (X) < TH (V)
fc) FET (X) = WHI (V)
(d) wem 31 | Feifa 8 fen s awa

106. fFr=ffan weet # & B=-w w6 37

(@) X 1 faemon o, v % o qoie &
FEA: (strictly) i R
X 1 o= o, v F R o @
aEga: (strictly) %9 #|
X %1 frao o, v % foeor e %
R R

wea 22 A Freron o i @ e
1 FHA |

(b)

()

(d)

AEBC-B-MTH/55A
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IR T A (02) wEET F forg Frefafes w fEw
$ifem

A T IEE n=6 3R p=k % Y X Ruz 9=
F ATEO FA AT TF AGIF W B 7H A,
9P(X=4)=P(X =2 ?I
107. k%1 °F #7187

(a) 1/2 () 1/3

fe) 1/4 (d 1/5

108. P(X = 3) %I 9H 41 &7
(@ 135/1024
(b) 5/128
c) 45/1024
(d 70/1024

A1 99 B (02) vwiE % o Prefafas w faw
#Hifdr ;

7 =1 3R 4 wfeensit ¥ o @y § ¥ 6 wEE
o gy %1 e f R

109. 7@ TR # qE: (exactly) 3 T=F % wite

B < wrfran = &7
(@ 10/33 (®) 30/77

c) 100/231 d 5/11

110. 39 9l & F9-3-m 2 Aftensdi & wivw 29

fi wifiman = 27
(@ 41/66 (b) 47/66
(c) 49/66 (d) 53/66



104. The most appropriate  graphical
representation of the given frequency
distribution is
(a) bar chart
(b) percentage bar chart
(c) histogram
(d) pie chart

Consider the following for the two (02) items
that follow :

The sum and the sum of squares of the
observations corresponding to length X (in cm)
and weight Y (in gm) of 50 tropical tubers are
given as £X =200, Y =250, X2 =900 and
£¥2 = 1400.

105. Which one of the following is correct?
{a) Variance (X) > Variance (Y)
(b) Variance (X) < Variance (Y)
(c) Variance (X) = Variance (Y)

(d) Cannot be determined from the
given data

106. Which one of the following statements is
correct?

(a) Coefficient of variation of X is
strictly more than -coefficient of
variation of Y.

(b) Coefficient of wvariation of X is
strictly less than coefficient of
variation of Y.

(c) Coefficient of variation of X is same
as coefficient of variation of Y.

(d) Coefficient of variation cannot be
determined from the given data.

AEBC-B-MTH/S5A - XEXS
o NEXS

33

218+ 1s0+21.3" 0] E &

¥, -:-'X-A’J

109. What is the

110.! What is the

Consider the following for the two (02) items
that follow :

Let X be a random variable following binomial
distribution with parameters n=6 and p=k.
Further, 9P (X =4)= P(X =2).

107. What is the value of k?

fa) 1/2 ) 1/3

fe) 1/4 @ 1/5

108. What is the value of P(X = 3)?

(@ 135/1024
(b) 5/128

) 45/1024
(d) 70/1024

Consider the following for the two (02) items
that follow :

A committee of 6 members is formed from a
group of 7 gentlemen and 4 ladies.

probability  that

the committee includes exactly
3 gentlemen?

(a) 10/33 (b) 30/77

c) 100/231 (d 5/11

probability that the
committee includes at least 2 ladies?

(@) 41/66 (b) 47/66
fc) 49/66 (d) _53/66
4, 7 4C T, # 4(;?6?_
s CZ G; ¥
[P.T.O.
;121'3__6 J2c ¢ QU Ig % T
?/ _).7 f




HA 9 A (02) WA % fy Fefafas w few
#Hifs :

A, B 3R C % wEas 59 i wmiEpart w9 3/10,
1/2 #v 4/5 &1 3R A, B 791 C vEuE ¥, @

siftens (F9) @ % or] P 9w A silReand
FHI: 4/9, 2/9 T 1/3 Bl

111. e (d98) G F @ feg 9@ A

ifirrar = 27
(@) 17/45 (b) 19/45
) 23/45 (d) 26/45

112. 3R ey (F98) d9 @ f SR,

1 i @ 7 fre fen 0 wevs B it
(@) 5/23 (b) 6/23
(c) 7/23 (d) 8/23

113. 100 R&vi 1 99X WIEd 50 B I Wdw
e ® | 5 w1 @ W siw fw 20 @
famfsm #= e sy, @ = G wen =@

'm?
fa) 225 (b) 35
(c) 425 (d) 55

114. 100 =W % 7% foeem 10 81 9R wols

Yem # 5 sirg fy smu iR R 20 @ faarfe
1 femn s, @ @ e e w0 dme
(@) 025 (b) 05
) 075 (d) 1-00

115. Ik  P4)=1/3, P(B)=1/2 3
P(AnB)=1/4, @ P(B|A®) % HH F1 87
(@ 1/8 (b) 3/8
fc) 5/8 (@ 7/8

AEBC-B-MTH/55A

116. IR P@A)=1/3, P(B)=1/2 3K
P(AnB)=1/4, @ P(A°nB%) % WM
£ i
fa) 1/4 (b) 5/12
(c) 7/12 (d 11/12

117. afg 9 sEfiFa 9wl Ft IBTE0 ST R, @ =0
wima @ B gl ¥ wew W oIm 9l
el F ArFa 7 ® g (strictly)

e A7
(@) 1/3 (b) 5/12
(c) 7/12 (d) 3/4

118. W% =t g fFd @s w Fomm @m A
Wik 1/5 1 3ft 98 = 7 90 HRR
B, oA T owiEa @ o9r A wew W
*H-Y-%A & 5R P am?

o -

119. AH wife X f3uz @27 &1 Fgaw w1 9 0
s M B, fad me v yEmr wa
200 ¥ 160 ¥ | gligoit A F@n (n) F1 9=

1 87
(a) 500 (b) 1000
(c) 1500 (d) 2000

120. 82 92 102, ..., 152 = 99/ HIL F1 &7

(@) 1335
c) 1375

(b) 1355
(d) 139-5



p & 5 S
Consider the following for the two (02) items
that follow :

The probabilities that A, B and C become
managers are 3/10, 1/2 and 4/5 respectively.
The probabilities that bonus scheme will be

introduced if A, B and C become managers are .

4/9, 2/9 and 1/3 respectively,

A
)tiwhat is the probability that the bonus
§ scheme will be introduced?

(a) 17/45 (b) 19/45
(c) 23/45 (d) 26/45
112. If the bonus scheme has been

introduced, then what is the probability
that the manager appointed was B?

(@) 5/23.~ (b) 6/23
fc) 7/23 (d) 8/23

113. The arithmetic mean of 100 observations
is 50. If 5 is subtracted from each

observation and then divided by 20,
then what is the new arithmetic mean?

(a) 2257 (b) 35
fc) 425 (d) 55
114. The standard deviation of 100

observations is 10. If 5 is added to each
observation and then divided by 20,
then what will be the new standard

deviation?
(@ 025 ) 05
fe) 0757 (d) 1-00
_Ea f P(A)=1/3, P(B)=1/2 and
P(AnB)=1/4, then what is the
value of P(B|A°)?
(@ 1/8 ®) 38 |, s
() 5/8 @ 7. ¥ =
ad &
¢
AEBC-B-MTH/55A

Y of . y 3
> ] . / )
14 D % I ¢
F T BT -
.»} @ a7
116. If  P(A)=1/3, P(B)=1/2  and
o P(AnB)=1/4, then what is the
7 value of P(A° n B°)?
1 (@ 14 (b) 5/127 .
“ V7 (g 7/12 (d 11712
117. If two fair dice are tossed, then what is

the probability that the sum of the
numbers on the faces of the dice is
strictly greater than 7?

(@) 1/3 (b) 5/12
() 7/12 (d) 3/4

118. The probability of a man hitting a target

is 1/5. If the man fires 7 times, then
what is the probability that he hits the
target at least twice?

o -3
o -3
o -

o -2

119. Let X be a random variable following
binomial distribution whose mean and
variance are 200 and 160 respectively.
What is the value of the number of

trials (n)?
(a) 500 (b) 1000
(c) 1500 (d) 2000
at is the arithmetic mean of
8%, 9% 10%,.., 15%7
(@) 1335 (b) 1355
N5 (g 1375 (d 1395
»7Z .
35 € [ P.T.O.
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